FooRRBHMRENL SFEMFRAEATRE

ZEFEHRK

e S

 CPASOAETHTA (1)
S HH LIRS EEMPR B2ARE

BikEN7 e $HRE TS EHM R
[FH AR FH T B HE T EREHMEKR
=g B S J=Ep! TR Rk JEAZ
Hm — — — — —
S — O 4-1 X 1-3 1E1ER 2
=22 — X 1-4 X 0-5 Ofpk2 i 3
R — O 3-1 O 5-0 210K 1
Az—}
E1RAE B 0—5  WHE
HoRE 5 1—-3 WEiE
E3RAE BE 4—1 520
Bk AR B EHEE TEmEHMFEKB
A E=vgd g (== JIEAE.
1 BH A Az F 33.9 6
2 S A DV 35.8 3
3 BP A v 35.5 4
4 HHEE A D v 36.1 2
5 “MH B — — —
6 S B N A 36.4 1
7 B3 B — — —
8 W B J— Y — 35.4 5




(PN AP

(37

HO FEJhfE

B TR S5 B M2

P2 A PO PN EORE TR SRR
RYIA g K EORE T2 = YR

TiEAT—h

IR BFEL TR ¥ 4 (3 JERT
1 (LN T5%8 B NAT =B 20.3 9
2 I ER EniE A 21.4 3
3 AT Ak 5P A 21.1 6
4 I B T IIEA 21.3 4
5 (U NS EnRE AT 21.2 5
6 NN I N 5P A 20.6 8
7 il 1L H =X — 20.8 7
8 e LT ES Em AR 22.0 1
9 POl N EnRE T2 R gy 21.7 2

TiEB=—h

{E A BFA4 P4 % 4 R NEAZ
1 FIA zEwk S V2R ay 21.3 3(4)
2 HE R i A 21.0 7
3 WAt H& = Nyt A A 21.3 3(3)
1 HH EnE Fohy 21.8 2
5 Frli] i 53 D 20.7 8
6 HalRg VA Ay 21.1 5
7 PN B [E Sy 19.9 9
8 P HK EnRE AR 21.9 1
9 Kf FEh THHE T Ty 21.1 5

OMNIEHRA I THEELTZIBN. (TR A ORE R FA:21.4 BEF:21.5)

A BFEA T4 ¥ 4 (3 NERE
1 Ha BEhE B FX LTI = — 41.2 1
2 ARl K iyt A=Y 40.9 2
3 W EnE J— X — 40.5 4
4 P HK EORE @A g 40.7 3
5 I BER EnE V2R ay 40.1 5
6 WA H& HH = 39.9 6




TE B AT DE 5

A H

W

PR T2 = S R A

2L

ARl

A

i T2 v S5 B A

RYIVA

3

A Ja

PR T2 = R A

Her A

e Kk

HAK

= En
I ER

/IR BRK

Rk A
PR SNIN -y

YN ON

AN o SE i
PN

BT A&

e
At &4

Py I5%

FIIA 2k

VNS
L AR

RIVAINGEL: e

R AR

FlIA 2k

#nlEE

S

i

#nlEE

S

S



